MAT2705-01/04 05S Quiz 7  Print Name (Last, First) |

Show all work, including mental steps, in a clearly organized way that speaks for itself. Use proper
mathematical notation, identifying expressions by their proper symbols (introducing them if necessary), and use
arrows and equal signs when appropriate. Always simplify expressions. BOX final short answers. LABEL
parts of problem. Keep answers EXACT (not decimal approximations, if possible).

WP: %24, 4%4-\489:(4‘3@5&2(: , Y=o =y,

a) The roots of the charadenshc equatior for the retated homogeneous DER are
F=-2&120. Wnte doon the general homogeneaus sduhons Y.

b)  Starhng with the tmal packcuar funchon Yo = €3 o512k + G4 sin (2t

. backsupstitute 1to the dhove DEQ and derve 2. linesr equathions needed U determine
¢z and Cq . Box . ' :

<) Write down the augmen'ked matrix 'ﬁrﬂnai— (e system and. use tedhnology to rref
it and then wate downthe result ard from i the sdubton ofthe system and then
Gnally gve your result fir Yo ( the ek resuitis o= fos (2t + 3514 l?.t—l_

&) Now \r pose the mhal condthons on the (,umP'ld-e ¢ duhion O= Yntyp o sove
Fhe wnthal value Pmb\cm, quohing youe final answer;
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2 *\
E"-ef%iq (os 2% — 1% sin 'ILJc) ¥ :‘F cos 12t +3 Sn izt




